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TARGET MATHS- 25/25

Q:-1- The ratio between the present ages of M and N is 6:5 respectively
and 15 years hence the ratio of their ages will be 9 : 8 respectively. What is
M's present age?

IaT:- M 3R N 1 TAHTT AT T ST SHAI: 6:5 3R 15 TN § 3ATAY kT
AT ThT STTUTA SHATT: 9:8 T M Y TAHT 7T FAT ¢ ?

A. 25

c. 26

D. 28
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Q:-1- The ratio between the present ages of M and N is 6:5 respectively
and 15 years hence the ratio of their ages will be 9 : 8 respectively. What is

M's present age?
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Q:-2- The sum of present age of A, B, C and D is 76. After 7 years the
ratiois 7 : 6 : S : 8. Find the present age of C ?

ITT:- A, B, C 3R D 1 IAHTT 31T T ART 76 §l 7 T o 18 TUTH 7: 6: 5: 8
1 C T TAHT 37T T hi?

A. 20
B. 15
c. 13

pD. 8
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Q:-2- The sum of present age of A, B, C and D is 76. After 7 years the
ratiois 7 : 6 : S : 8. Find the present age of C ?

ITT:- A, B, C 3R D 1 IAHTT 31T T ART 76 §l 7 T o 18 TUTH 7: 6: 5: 8
1 C T TAHT 37T T hi?

A. 20
B. 15

C.



TARGET MATHS- 25/25

Q:-3- The ratio between the ages of A and B is 2: 5. After 8 years, their

ages will be in the ratio 1:2.What is the difference between their present ages?

3qT:- A IR B h ST T ATUTA 2 : 5 3| 8 Y 1S, ITehT AT 1:2 & ATATTH
BT 3TehT AU AT | fehe=T Siav 32

A. 24
B. 26
c. 25

p. 27
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Q:-3- The ratio between the ages of A and B is 2: 5. After 8 years, their

ages will be in the ratio 1:2.What is the difference between their present ages?

3qT:- A IR B h ST T ATUTA 2 : 5 3| 8 Y 1S, ITehT AT 1:2 & ATATTH
BT 3TehT AU AT | fehe=T Siav 32

A.

B. 26



TARGET MATHS- 25/25

Q:-4- The ratio of the ages of A and B 7 years ago was 3 :4 respectively.
The ratio of their ages 9 years from now will be 7: 8 respectively. What is B's

age at present ?

3qT:- 799 U A R B hY AT KT SATUTA THAIT: 3:4 AT| AT § 9 T TG Ik
3T T STTUTA SHAIT: 7:8 TN TAHTT § B Y 11T T 82

A. 23
B. 26
c. 25

D. 28
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Q:-4- The ratio of the ages of A and B 7 years ago was 3 :4 respectively.
The ratio of their ages 9 years from now will be 7: 8 respectively. What is B's

age at present ?

3qT:- 799 U A R B hY AT KT SATUTA THAIT: 3:4 AT| AT § 9 T TG Ik
3T T STTUTA SHAIT: 7:8 TN TAHTT § B Y 11T T 82

A.

B. 26
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Q:-5- The ratio of the ages of A and B at presentis 3 : 1.4 year earlier

the ratio was 4 : 1. The present age of A is :

IT:- TAWT H A 37 B T 3T T ST 3:1 | 4 TS UgeA Ig STTUTH 4:1 4TI A
T TAHT 3T &

A. 36
B. 30
c. 32

D. 28
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Q:-5- The ratio of the ages of A and B at presentis 3 : 1.4 year earlier

the ratio was 4 : 1. The present age of A is :

IT:- TAWT H A 37 B T 3T T ST 3:1 | 4 TS UgeA Ig STTUTH 4:1 4TI A
T TAHT 3T &

A.
B. 30
c. 32

D. 28



TARGET MATHS- 25/25

Q:-6- The ages of A, B and C are in the ratio 5 : 6 : 7 and the sum of their
ages is 72. Find the ratio of 10 years ago B age to C age after 10 years ?

IqT:- A, B 3T C Y 7T T STTATA 5: 6: 7 F R ITehT STTT HTANT 72 31 10 I
ge B Y AT T 10 T 18 C Y ATT | ST 7T ShiTQ ?

A, 1:2
B. 7:19

c. 17:19
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Q:-6- The ages of A, B and C are in the ratio 5 : 6 : 7 and the sum of their
ages is 72. Find the ratio of 10 years ago B age to C age after 10 years ?

IqT:- A, B 3T C Y 7T T STTATA 5: 6: 7 F R ITehT STTT HTANT 72 31 10 I
ge B Y AT T 10 T 18 C Y ATT | ST 7T ShiTQ ?

A, 1:2

B.

c. 17:19



TARGET MATHS- 25/25

Q:-7- The ratio of ages of A and B is 3:5 and the sum of their ages is 80.
After 10 years, what will be the ratio of their age?

IET:- A 3T B ohT 37T T ATUTA 3:5 7 3T ITehT AT <hT IRT 80 2 10 W e,
Ik AT T FTUTA AT FITT?

A. 2:5
B. 3:4
c. 2:3

p. 1:2
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Q:-7- The ratio of ages of A and B is 3:5 and the sum of their ages is 80.
After 10 years, what will be the ratio of their age?

IET:- A 3T B ohT 37T T ATUTA 3:5 7 3T ITehT AT <hT IRT 80 2 10 W e,
Ik AT T FTUTA AT FITT?

A, 2:5
B. 3:4

C.

p. 1:2



TARGET MATHS- 25/25

Q:-8- Present age of A is equal to B’s age 8 years ago. Four years hence,
the respective ratio between A’s age and B’s age will be 4 : 5 at that time .

Whatis A’s present age?

IqT:- A ST TAHT AT B T 8 TH & AT o T ¢l TR I TG, 39 97T A i
HATY 3R B T 7T o siter T ATUATT 4:5 TR A Y TAH AT FT 52

A. 32
B. 28
c. 30

p. 24
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Q:-8- Present age of A is equal to B’s age 8 years ago. Four years hence,
the respective ratio between A’s age and B’s age will be 4 : 5 at that time .

Whatis A’s present age?

IqT:- A ST TAHT AT B T 8 TH & AT o T ¢l TR I TG, 39 97T A i
HATY 3R B T 7T o siter T ATUATT 4:5 TR A Y TAH AT FT 52

A. 32

B.
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Q:-9 - 10 years ago, the ratio of age of A and B was 3: 2 and after 10

years, their ages ratio will become 5 : 4. Find the sum of their present age ?

10 T UEEA, A 3R B T STTT T SITUTH 3:2 AT 3R 10 T IATE, 3T AT Tl
FTUTA 5:4 BT TATQT| ITHT TAHT AT T AW AT hHITT 2

A. 100
B. 70
c. 140

p. 160



TARGET MATHS- 25/25

Q:-9 - 10 years ago, the ratio of age of A and B was 3: 2 and after 10

years, their ages ratio will become 5 : 4. Find the sum of their present age ?

10 T UEEA, A 3R B T STTT T SITUTH 3:2 AT 3R 10 T IATE, 3T AT Tl
FTUTA 5:4 BT TATQT| ITHT TAHT AT T AW AT hHITT 2

A. 100
B.
c. 140

p. 160
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Q:-10 - Five years ago, the ratio of the ages of A and B was 2 : 3 and after

S years it will become 5 : 7. Find their present ages ?

UTa I U, A 3R B T 37T T STTUTE 2:3 9T 3R 5 99 18 g 5:7 T ATC
IR TAHTT ST T hHITAT 2

A. 36 yrs, 52 yrs.
B. 37 yrs, 37 yrs.
c. 35yrs,S1yrs.

D. 45yrs, 65 yrs.
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Q:-10 - Five years ago, the ratio of the ages of A and B was 2 : 3 and after

S years it will become 5 : 7. Find their present ages ?

UTa I U, A 3R B T 37T T STTUTE 2:3 9T 3R 5 99 18 g 5:7 T ATC
IR TAHTT ST T hHITAT 2

A. 36 yrs, 52 yrs.
B. 37 yrs, 37 yrs.

c. 35yrs,S1yrs.
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Q:-11 — Suman was married 6 years ago. Her present age is 5/4 times of

the age at the time of her marriage. Her son’s age is 1/10th of her present

age. What is the present age of her son?

|A 6T ITET 6 AT Uget 53 off| SHhT SAHT ST IThT IS o THI i 3T 6T 5/
4 7T §1 3Hk T ST AT IThHT TAHTT 1T hT 1/10 § 38k T Y TAHH 31T

FATE?

A. 3 years
B. 5Syears
c. 8years

D. 6 years
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Q:-11 — Suman was married 6 years ago. Her present age is 5/4 times of

the age at the time of her marriage. Her son’s age is 1/10th of her present

age. What is the present age of her son?

|A 6T ITET 6 AT Uget 53 off| SHhT SAHT ST IThT IS o THI i 3T 6T 5/

4 7T §1 3Hk T ST AT IThHT TAHTT 1T hT 1/10 § 38k T Y TAHH 31T
T E?

A.
B. 5Syears
c. 8years

D. 6 years
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Q:-12 — The sum of the ages of father mother and son is 96 years. But
after 8 years mother will be thrice of her son and father will be sum of the

ages of mother and son together. Find present age of mother?

IaT:- TOaT ATaT 3R U1 T 31T T AT 96 T 3| AAfeh 8 AT 18 | ehl T
Y A T A TAT BRI SR TUATERT ST 0T 3R o hl IH T AT TN | <kt
TARTT AT AT ki oTa?

A. 30 years
B. 45 years
c. 37 years

D. 36 years
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Q:-12 — The sum of the ages of father mother and son is 96 years. But
after 8 years mother will be thrice of her son and father will be sum of the

ages of mother and son together. Find present age of mother?

IaT:- TOaT ATaT 3R U1 T 31T T AT 96 T 3| AAfeh 8 AT 18 | ehl T
Y A T A TAT BRI SR TUATERT ST 0T 3R o hl IH T AT TN | <kt
TARTT AT AT ki oTa?

A. 30 years

B. 45 years

D. 36 years



TARGET MATHS- 25/25

Q:-13 — A is as much younger than B as he is older than C . If the sum of

the age of B and C is 52 years, then find the present age of A ?

I~ A, B | 30T € BYer § ™aar a8 C a9z 71 afg B 3R C 6t sy ot A
52 99 8, AT A 1 TAHTT ST AT hIT0?

A. 30 years
B. 26 years

c. CND

D. 35 years



TARGET MATHS- 25/25

Q:-13 — A is as much younger than B as he is older than C . If the sum of

the age of B and C is 52 years, then find the present age of A ?

I~ A, B | 30T € BYer § ™aar a8 C a9z 71 afg B 3R C 6t sy ot A
52 99 8, AT A 1 TAHTT ST AT hIT0?

A. 30 years
B.
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